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1. Answer the following questions (any ten) :

1x10=10
@oq PEd Ted ol (R Gice weht)

(a) What is social indifference curve?

e fraeers @9 &2

(b) Define property rights.
Tifeq wfdFET Tz i |

fc) What is monopoly power?
GFCHoAl ISFT = &9
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(d) What is product differentiation?
AraE Resteae et & e 2

()  Define cartels.

T TG TS T |
(e) Define saddle point.

m) What is exclusivity?
“feel g sieeat o | m) ¥

Afdgae e & @2

(n) Write one difference between private

() What is payoff matrix?

S (e 7 goods and public goods.
(99 In what type of market we get &S Tq WE 53T GIF TGS @Ol {14
asymmetric information? foran 1
:;T s 5 e on R (o) State Bertrand’s model of oligopoly.
\ ALY FARCFOR G TG TS 47 |
(h) Give an example of positive externality.
@ft g3 AMRFFOR Trrzad i | 2. Answer the following questions (any five) :
2x5=10
(i) What is first-degree price o 2ppTEd Ued o (R e #Hiwht)
discrimination?
a) Define Pareto efficiency.
2o M v {oew 3R f e o e \ Y
CPICA0” T IRl Tl |
() What is the basic difference between 1
oligopoly and duopoly? (b) Write two features of public goods.
|
TR@OR WR o wReR 991 oo reral T o1 s fer
el 2 | : !
(c) How does concentration ratio determine
(k) What is shutdown point? degree of monopoly power?
et 3 5 9 @ERFI TATS PO T NS
CFCCS q P ?
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(d) What is ‘two-person zero-sum’ game?
TE-IE - 47 o

(e) What is meant by signaling in
a market?

TEE TS e 5 a2

) Dist%nguish between production
efficiency and exchange efficiency.

%awwwﬁﬁmww\.,onw

foram 1
(99 What are minimax
and imi
strategies? maximin

R 1 ‘e e g
(h) What is

third-d i
discrimination? o &
PO G 7 ResRiee f o
3. Answer the following questions (any four :
wﬁawﬁmﬁm(ﬁmmﬁm. 42
(@) ExPlaiIL how efficiency can pe achieved
I exchange thr
iy ough Edgeworth box
TEEI TR, T ey R et et
MR N4, |5 0y | i ik
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(b)

(c)

(d)

(e)

(S)

Briefly explain the causes of market
failure.

G FFeTor FRPTR YL I 4 |

Explain the concept of excess capacity
under monopolistic competition.

T oS Seve  Sfefe e[
{IEICH! 10T 541 |

When is price discrimination possible
and profitable? Explain.

e Ronesd @fom 7z o aosme 247
I 4T

Explain the concept of Prisoner’s
Dilemma.

SRR 4T 4= AT 47 |

Distinguish between perceived and
proportionate demand with the help
of a diagram.

foas @l SeRfFe W S EEifes  vifine
IGECOT P <41 |

(g) Explain how the growth of monopoly
power can lead to market failure.
G IEEE TS (FTWT IR Re=roR
7B <, A 40
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(7)

W D ; ] (d) Explain how prices and output can
& i s e | T be determined under mon}z) olistic
earns supernormal profit?  Justify s ; .
your answer. competition in the short run and
long run. 10
GO IEE [rwez W SEeke
; Sl #e
ST P ? (ORI e I i | GFIEFR TEES @ S A IS AP
FLFITS @FALD [l TR A, I AT |
Answer the following questions (any four) : (e) Explain diagrammatically Cournot’s
o STPT a7 Bt (R 10x4=40 model of duopoly equilibrium. 10
): 54 Aol o1 ST SHRCT A
(@) What is production-possibility frontier
(PPF,)? How can resources be allocated () Write two applications of game theory.
efficiently through PPF? State Pareto’s Explain the method of solving
third condition for optimality. 2+6+2=10 a two-person zero-sum game. What are
Tesme Aaifder @ (4. . a%F.) 59 e the limitations of game theory? 2+6+2=10
HRel @R RS T Rewd @ 41w o1 A Bl | <GB R F-
wEOld FRA M B’ ey e QU 4 (T A I AR,
POt BT o | 1 | (41 OGS aReAd Seerd 4 |
(b) \S}szz :Ind t;xplim. C.oase’s theorem. () What is information asymmetry? How
theorem?e e lmitations of Coase’s does information asymmetry affect
. 6+4=10 business? Give two examples of
FOT OGO TS WEF IO T 3 Yo markets where information asymmetry
m T 59 prevails. 2+6+2=10
() How can monopoly power be controlled TR SpEfel 2 AR PSR IEETO
and regulated? Explain. i I 2IoR C%?TN? Tl PR SRS 2T
SRR RCIESE |
qa?csf;l‘,nm% TR M& @R g S i
P T AT AT
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(h) Explain why there is no supply curve
under monopoly. Explain the case
of dumping in international price
discrimination. 5+5=10
IO TGRS @ @& R e T,
T | RS OO T Rreneq
CFES CIf1eq GRENTH! <5471 <541 |

() Describe how a monopolist will
discriminate the price in the markets
with different elasticities of demand
and attain equilibrium. 10

01 for v fefemremer a1 qeme Rrsmm)

WWWWWE“@,
SCATST 3547 |

() Compare and contrast Bertrand
and Stackelberg’s equilibrium under
oligopoly. 10
TRTOR IWEe /G ue CBLFeIelg
ST G A A1 g |
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